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GSM/D-20 861
MACRO ECONOMICS-I

Time allowed : 3 Hours Maximum Marks : 80

Note : Attempt five questions in all. Question no. 1 and
2 are compulsory. Attempt 3 questions selecting
one questions each from any of three units out of

four units. All questions carry equal marks.
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Compulsory Question (3ifard o)

1. Case study.
When Mukesh was unemployed he used his past

savings to sustain his consumption. After getting
a job he initially did not save anything. However
after an increment, he decided to save some part

of his income and spend the rest.
On the basis of above, answer following questions :
(1) Mukesh’s behaviour is based on which law ?

(11) What are the main propositions of the law.
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(111) Define the concept of MPC and MPS.

(iv) Why MPC falls as income increases.
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(iii) MPC & MPS &l YROT hi AT T |

(iv) 3@ & &+ & |9 MPC #i fiRdt & ?

2.  Choose correct answer (ﬂ%gf 3L bl A9 Ohl)

(a) Which of the following does not come under

scope of macro economics.
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(b)

(©)
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(1) 1inflation (1) Growth
i 3fg forapre
(111) Partial equilibrium (iv) Monetary policy
SRR wifseh Aifd
Which of the following is a leakage.
e ¥ 9 9 Wt e ©

(1) Savings (11) investment
= [BERL

(111) Government expenditure (iv) None
Rl = g &l |

Which of the following is not included in

national income under Income method.
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(1) Rent (1) Mixed income
SRR fafsa e
(111) Pension (1v) Undistributed profits
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(d) Expostinvestmentis ........... Investment.

H%Tﬁﬁém ......................... ﬁlﬁ'ﬂ%

(1) Planned (1) Actual
ERIEE EIEsIEED
(111) Future (iv) None

it g &l
(e) Public investment is investment made by

TNt faw fegs g fear T few
2 |

(1) Citizens (11) Government
TR LR
(111) Private companies (iv) All

it i Tt |

(11) Match the following :

(a) Seasonal unemployment (1) F (wlp)
(b) Supply of labour (11) absence of govt. interference
(c) Money wages (111) Changes in season

(d) Aggregate demand for labour (iv)direct function of real wages

(e) Laissez faire (v) P_MPP,
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(111) Very short answer Question : 5x1=5

3 o9 I 99 :

(a) Explain gross domestic product at market

price.
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(b) Discuss methods of measuring national

income.

TS 37 i AT i fafer sa |

(¢) Explain propensity to save.

EECICCICECARCE R IET
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UNIT-1 (SehrE-1)

What 1s difference between micro and Macro
Economics. What 1s importance of Micro

Economics.
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Discuss circular flow of Income i1n 4 sector

economy. 16
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UNIT-II (Eh1e-1I)

Critically explain Say’s law of market. 16

‘' & dNIR T9m &1 ST e 1 |

Critically explain the theory of effective
demand. 16
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UNIT-III ( ZehTe-III )

Define propensity to consume. What are its

determinates. How we can increase it. 16
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8. Define APC & MPC. Why MPC falls as income

Increases. 16
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UNIT-IV ( SehTE-1V)

9. What 1s investment. Discuss factors that affect

autonomous and induced investment. 16
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10. What 1s relation between MEC and rate of

interest. Discuss factors affecting MEC.
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